Pre-Calculus  11     Ch # 4   test  Review.                    Name:_________________
1. Solve each quadratic equation by graphing the corresponding quadratic function.
           a) 0 = x2 + 8x + 12                            b) 0 = x2 – 4x – 5
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          c)   0 = –x2 – 4x                                      d) 0 = x2 – 9
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2. Explain what must be true about the graph of the corresponding function for a quadratic equation to have no real roots.
3. The path of a soccer ball can be modeled by the function h(d) = –0.1d2 + 0.5d + 0.6, where h is the height of the ball and d is the horizontal distance from the kicker, both in metres. You can use the quadratic equation 0 = –0.1d2 + 0.5d + 0.6 to determine the horizontal distance that a ball travels after being kicked.  a) How far did the ball travel downfield before it hit the ground? b) What was the height of the ball when it was kicked?
4. Factor.

         a) 4x2 – 13x + 9                                                     b)  
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x2 – 
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x – 2             

          c) 3(v + 1)2 + 10(v + 1) + 7                       d)   9(a2 – 4)2 – 25(7b)2
5. Solve by factoring. Check your solutions.

a) 0 = x2 + 10x + 21  

b)  
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m2 + 2m – 5 = 0  
c)  0 = 6z2 – 21z + 9               

6. Solve.
         a)  –4g2 + 6 = –10g                                   b)   8y2 = –5 + 14y

7. Write a quadratic equation in standard form with the given roots.
         a)   2 and 3                                          b)   –1 and –7
         c)  
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  and –4                                      e)  –
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  and  5
8. Determine the value of k that makes each expression a perfect square trinomial.

             a)  x2 + 4x + k                                     b)  x2 – 
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x + k
9. Solve. Express your answers as exact values.

       a) 2x2 – 98 = 0                                      b) (x + 3)2 = 25

      c) (x – 5)2 = 24                                       d) (x – 1)2 = 
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10. Complete the square to determine the roots of each quadratic equation. Express your answers as exact values.
         a)  –2x2 + 16x – 3 = 0                             b)  5y2 + 20y + 1 = 0

11. Use the discriminant to determine the nature of the roots for each quadratic equation. Do not solve the equation.

           a) 2x2 + 11x + 5 = 0                                b)  4x2 – 4x + 1 = 0

           c) 3p2 + 6p + 24 = 0                               d)  4x2 + 4x – 7 = 0
12. Use the quadratic formula to determine the roots for each quadratic equation. Express your answers as exact values.
          a) –3x2 – 2x + 5 = 0                               b) 5x2 + 7x + 1 = 0    
          c)   3x2 – 4x – 1 = 0                               d)   25x2 + 90x + 81 = 0  
13. A ferry carries people to an island airport. It carries 2480 people per day at a cost of $3.70 per person. Surveys have indicated that for every $0.05 decrease in the fare, 40 more people will use the ferry. Use x to represent the number of $0.05 decreases in the fare.

             a) Write an expression to model the fare per person.

        b) Write an expression to model the number of people that would use the ferry per day.
        c) Determine the expression that models the revenue, R, for the ferry, which is the product of the  number of people using the ferry per day and the fare per person.

       d) Determine the number of fare decreases that result in a revenue of $9246.
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